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{ "h‘\‘ﬂh‘ﬂ  Nection-A (Q. No. 1 1o 35)

(\ o) : : i ‘ Ve
wheel of a bullock cart s rolling o level | 4 y and B and

rond as shown in the figure below. i
speed s v in the direction shown, which one of
the tollowing options is correct (7 and () arc any
highest and lowest points on the wheel.
respectively)?

Consj g
id "“_"?Cf the following statements -
entify the correct answer

»
A, For a solar-cell, the I-V char:it“‘""““ o~
" in the IV quadrant of the given graph
R B.  In a reverse biased pn junctio! ‘f'“dg' -
current measured in (uA), is duc majorify 58
0 charge carriers. |
| (1) Both Aand B are correct.
(1) Both the points 2 and {2 move with cqual (2) Both A and B are incorrect.
(3) A is correct but B is incorrect.

speed,
(4) A is incorrect but B is correct.

(2) Point 2 has zero speed.

(3) Point 7 moves slower than point (/. 5 Match List I with List IL _
. . , List 1 List 11 ¥
(4)  Point 2 moves faster tl e . "
) or than point § {Spectral Lines of (Wavelength‘(um))
Hydrogen for
2 An unpolarised light beam strikes a plass surface transitions from)

at Brewster's angle. Then A m=3tom=2 1. 4102
l (1) boththe reflected and refracted lightwill be B. m=4t10m= 2 I 4341
y completely polarised. )
i ! F . . oy =St - 2 HI. 6563
| (2) the reflected light will be completely .

: . . A1 b D. ny=6tonm=2 IV. 4861
polarised but the refracted light will be - M ) .
' purtinlly pdluriscd. Choose the correct answer from the opnas given
. , . i . , below : ‘
4 (3) thereflected light will be partially polarised. () ALV, oL C-1, DA
! 4) the refracted light will be completely 2) A-L B-11, C-11, D-IV
polarised. (3) Al B-L GV D-11
: (1) A-lL BV, C-L D
i} . .
4 3 In a uniform magnetic field of 0.049 T, amagnetic | 6 A thin sphc.rlczll. spcll n: L:::Btd by sone souree.
3 needle performs 20 complete oscillations The putcnnal dl:krem',s xhe\:’l':::- the ., points |
. . . . 2 (1 3 wn i C

5 5 geconds as shown. The moment of inertia of the ¢and £ (0 V) sho gure i,

needle is 9.8 « 100 kg m? 1 the llmgnil:ulc of ik 1910 STunits)
N, magnetic moment of the needle is v = 107 Am= 4n e

then the value of x' s

5 2 g=1pC
(N (2) 1280n W 0.5 * 105 (2) zero
2 y IR 3108 (4) 1 =105
% 2 4 I Contd..o
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A thermodynamic :System is taken through the
cycle abcda. The wark done by the gas along the

path bcis: [

P -
T i)
300kPa'"-d - €
N
lOOkPl"" a > 'b
T0em? 400w
.§,V'_)
(1) -90J 2) -60J
(3) zero “4) 30J

Two bodies A @nd B of same mass undergo
completely inelastic one dimensional collision.
The body A moves with velocity v, while body B
is at rest before collision. The velocity of the
system after collision is v,. The ratio vy : v, is :
(1) 4:1 5 ) 14

3) 1:2 o (4 21

A horizontal forc;gjO Nis applied to a block 4 as
shown in figure. The mass of blocks 4 and B are
2 kgand 3 kg, rersfa tively. The blocks slide over
a frictionless surface. The force exerted by block
A onblock Bis : y

F=10N —7h3
S '3 kg
2 kg

7777777777, /////{/(// 77777777 .
(1) 6N () 10N

(3) zero ;{‘: (4) 4N

If cis the velocity bf light in free space, the correct
statements about photon among the following
are:

The energy‘afia photon is E = hv .
The velocity®f a photon is € -

tqi ) hv
The momeritum of a photon, p= -

o v

lision, both total

In a photongglectron col
m are conserved.

energy and ptal momentu
E. Photon possesses positive charge- _
Choose the correct answer from the options given
below :
(1) A,CandD only
(2) A,B,DandE only
(3) AandB only
(4) A,B,Cand D only

T2_English |

11

12

13

14

mye ¢, the displacement of any

At any instant of ti
t— 1 (SI unit) under the

particle is given by:2
influence O

instantaneous power-is (in SI unit):

(1) 7 @ 6
3) 10 n® 3
If the monochromatic source in Young’s double

slit experiment is reglaced by white light, then

(1) there will be a-central bright white fringe
surrounded by'f'af few coloured fringes.

(2) all bright fringes will be of equal width.
(3) interference pat\tem will disappear.

(4) therewillbea ceﬁtral dark fringe surrounded

by a few coloured fringes.

In the following circuit, the equivalent capacitance
between terminal Aand terminal B is :

A light ray enters through a right angled prism at
point P with the angle of incidence 30° as shown
in figure. It travels:E irough the prism parallel to
its base BC and emerges along the face AC. The
refractive index of the prism is:

[ Contd...
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16

17

1

(incm)is:
(1) 100N (2) 10(N+1)
10N 100(N +1)

19 The terminal voltage of the battery, whose emf is
10V and internal resistance 1<), when connected
through an external resistance of 4 Q as shown
in the figure is :

40‘;
V) N
s i |
L AN
(1y 8V (2) 10v
(3y 4V 4) 6V
T2_English | 4

The output (¥) of the given logic gate is similar
to the output of an/a -

A

(1) OR gate

(2) AND gate
(3) NAND gate

(4) NOR gate

A particle moving with uniform speed in a circular
path maintains :

(1) constant velocity but varying acceleration.
(2) varying velocity and varying acceleration.
(3) constant velocity.

(4) constant acceleration.

The quantities which have the same dimensions
as those of solid angle are :

(1)
(2)
(3)
(4)

strain and arc

angular speed and stress
strain and angle

stress and angle

8  Inavernier calipers, (N + 1) divisions of vernier
scale coincide with N divisions of main scale. If
1 MSD represents 0.1 mm, the vernier constant

20

21

22

23

A bob is whirled in a horizontal plane bY meTa:s
of a string with an initial speed of @ P™M- 20:
tension in the string is 7. If speed becqme§n e
while keeping the same radius, the tension 1
string becomes :

a L 2) 2r

@) T (4) 4T

If x=>5sin (Ttl + -;c—)m represents the motion of a

particle executing simple harmonic motion, the

amplitude and time period of motion, respect_fvely:
are :

(1) Sem,1s

(2) Sm,1s
(3) Sem,2s (4) 5m,2s
LNy
Inan ideal transformer, the turns ratio is N = 7
' s

The ratio V: Vp is equal to (the symbols carry

their usual meaning) :
1M 1:1
(3) 1:2

@) 1:4
@ 2:1

Given below are two statements: one is labelled

as Assertion A and the other is labelled as
Reason R.

Assertion A : The potential (/) at any axial point,
at 2 m distance(r) from the centre of the dipole

_)
of dipole moment vector P of magnitude,

4x10°Cm,is +9x103 .
LIPS
(Take 4 o= 107 ST units)

2P
dney r

distance of any axial point, situated at 2 m from

the centre of the dipole.

In the light of the above Statements, choose the

correct answer from the options given below-

(1) Aistrue but R is false.

(2) Aisfalse butRistrue. -

(3) Both A and R are true and R
explanation of A,

“

Both A and R are true and R is NOT the
correct explanation of A,

Reason R : V=% 7 » Where 7 is the

is the correct

[ Contd...
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26

27

A thin 12 circular disc of radiug 4 ¢ :
;:fmh over the ‘”da_w of water, 1f 4
of water 0.07 Nm~!, then the
' . 1ake it away from the

(2)
(4)

o 15 placed
face tengion
Cxcess force
required | urface jy -
(1) 1,98 mN

(3) 198

99N
198 N

A tightls wound 100 turns coil of radius
10 cm carries 4 CUTTENt of 7A. The magnitude of
the magnetic field at the centre of the coil is (Take

permeability of free space as 4z, 1077 S| units);
(2) 44T
(4) 44T

(1) 44mT
(3) 44 mT

Given below are two statements

Statement I : Atoms are electrically neutral as
they contain equal number of positive and
negative charges.

Statement II : Atoms of each element are stable
and emit their characteristic spectrum.

In the light of the above statements, choose the

most appropriate answer from the options given
below :

(1) Statement | is correct but Statement II is

incorrect.

(2)

Statement | is incorrect but Statement II is
correct,

(3) Both Statement 1 and Statement II are

correct.

(4) Both Statement 1 and Statement Il are

inC()rrec['

The moment of inertia of a thin rod about a0 axis
passing through its mid point and perpendicular
to the rod is 2400 g c2, The length of the 400 &

18 near]y .

(3) 85 cm

2) 72.0cm

4) 17.5¢cm

T2_Englisp ]
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29

30

31

32

C 0wy

Solenoid - 1 Solenoid - 2

in the above diagram, a strong bar magnet I8
moving towards solenoid-2 from solenoid-1. The
direction of induced current in solenoid-1 and that
in solenoid-2, respectively, are through the
directions:

(1) ABand CD (2) BAand D¢’
(3) ABand DC (4) BAand C'D
_‘ ,
,2,;’")( 2,y vz L p »()

In the nuclear emission stated above, the mass
number and atomic number of the product ()
respectively, are
(1) 288,82
(3) 280, 81

(2) 2806, 81
(4) 286, 80

The mass of a planet is L th that of the carth and
10

its diameter is half that of the carth. The
acceleration due to gravity on that planet is :

(1) 49ms2 (2) 3.92ms?

(3) 19.6ms2 (4) 9.8ms?

The maximum elongation of a steel wire of | m
length if the elastic limit of steel and its Young's
modulus, respectively, are 8 « 108 N m 2 and
2% 10" Nm2, is :

(1) 40 mm (2) 8mm

(3) 4mm (4) 0.4 mm

Match List-1 with List-I1.

List-I List-11

(Material) (Susceptibility (%))
Diamagnetic . %x=0
Ferromagnetic . 0=y=z-1
Paramagnetic Hl. o >>1
Non-magnetic IV. 0<% < € (asmall

positive number)
Choose the correct answer from the options given
below:

(1
(2)
(3)
(4)

A-I11, B-11, C-I, D-IV
A-1V, B-111, C-I1, D-I
A-I1, B-III, C-1V, D-]
A-I1, B-1, C-11I, D-1V

| Contd...
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2 A lopic Grcuit provcides the owtput b as N7 the
follew ingmruth whie
-
y _
£ 4 R 3
A 0 ! i 1 ]
“ noron
[ Y] [
1 | N
4
%
The expBion fou the caspun } is
i1 K r (<) H
LY
(Y (¥4 (4) 48+ 4
Aa The grn; which shows the vanation of 5
and i hfwetic energy, £ o (ahere S oode Broghe
un\-etena\ of a free partacie)
&4
-
h (2
Ny
1
(3 ) ¥
?
o —s K
as A wire Sfif length "/ and resastance 1006 15
dunvaded ﬂu\\ 10 oqual pans Ihe first 3 pars are
connected i series while the next 5 parts are |
connectetd w paraliel. The two combinations are
aprin cohnected in series. The resistance of this |
final combination s’ ;
(1) AEDQ (2 el i
(3 26l 4) 20 i
!
T2 Fauglish | 6

ALY
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19

Physics ; Sm‘!lun B (). No. 36 to "")

If the mﬂgvt the hob in a simple pendulyg, 4
mnerensed fythrice ifs ariginal mass and ity [e"l'lh
vs made hatfits original length, then the new g,

. . . o
periocd of tﬂlllllmun s, times its original fin

e

period Ihen the value of v 15

(h 21 (1
(U ‘; (2

{ ' i
A force defimed by /- ar” o ()t acts on a particl

at a given time ¢ The factor which

dimensiortfeks, if ¢ and [} are constants, s

() ap 2 b
e
N
(1) 3¢ (4) ”,I;’
". ] 1]
-

-
Anaron baget length | has magnetic moment M
It 1s bent a'the middle obits lengrh sach that the
two anms make an angle 607 with cach other. The

magnetic moment of this new magnet is:

\“

¢ M
(y 2m 2 7

L v

i'.\

=) M
Gy M h

P

I the plates of a paralle] plate capacitor connected

to a battery are moved close to cach other, then

A the Qﬁ!gc stored 10 1, increases.

B, the su@rgy stored in it decreases.

C.oans céﬁ&:imncc nUreases.

D the gifjo of charge Wt potentigl remaims
thie sd@ibic

E the product of charge and voluage increuses.

Choose the most appropriate answer from the

opticas given below

ih) BDand boonly (D

(3) A Badb aatly (4

AL B and C only

AL Cand B only

| Contd...
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42

scope has an OijCﬁVc of f
mall t€les€ , ocal len
?4?) o and an eye piece of focal engyy, 5 -

- magﬂ‘fymg power of telescope g, viewing

a0t object 15
-

3) (4) 28

Two heaters A and B have power rating of | kw
and 2 KW, rcSPF““""Y- T!"OSC Wo are first
connected in S€T1ES ar‘ld then in paralle] 16 4 fixed
power Source. The ratio of power outputs for these
two cases 15’

() 1:2 (2)
(3) 10} (4)

3

L% S

A metallic bar of Young's modulus,
0.5 » 10" N-m ? and coefficient of linear thermal
expansion 10 SoC 1, length | m and area of
cross-section 10 2 m? is heated from 0°C 10 100°C
without expansion or bending. The compressive
force developed in it as:

(1) 100> 10°N (2)
(3) S+ 104N (4)

25 100N
50 « 10°N

A parallc| plate capacitor is charged by connecting
it 10 a battery through a resistor. If | is the current
in the circuit, then in the gap between the plates -
(1) diplacement current of magnitude equal to
I flows in a direction opposite to that of 1.
(2) displacement current of magnitude greater
than | flows but can be in any direction.
(3) there is no current.
(4)  displacement current of magnitude equal to
I flows in the same direction as |

Choose the correct circuit which can achieve e
bridge balance.

45

47

The mimimum eneryy required i launch a st \late
of mass m from the surface of earth of mass M
and radius R in a circular orbit at an altitude of

IR from the surface of the carth is

G",“‘"{ ., _(_}n;_M
() 2g (2) “3r

SGmM 2GmM
3) g 4 e

I'he property which is not of an electromagnetic
wave travelling in free space is that

(1) they travel with a speed equal to ;‘1‘“ o
V _

(2) they onginate from charges moving with
uniform speed
(3) they arc transverse in nature.

(4) the energy density in electric field is equal
to energy density in magnetic field.

I'he following graph represents the -V curves of
an ideal gas (where T is the temperature and V
the volume) at three pressures /), P, and /7,
compared with those of Charles’s law represented
as dotted lines.

Pl
0
[/

Then the correct relation is:

r—

(1) ,’zxﬂ .—[’_] (2) ])iafl'z - P‘g

3 A>RsA 4 B-r-p

| Contd...
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18 A sheet i placed on a horizontal su
otfa strong magnetic pole. A force is needed to:
A. hold the shdét there if it is magnetic
B hold the shéet there if it is non-magnetic
C. move the \S’“\\ away from the P“'( with
unitorm \e!p\ ity it it is conducting ‘
D move the shicet away from the pole W ith
uniform \cl(ul\ if it is both. non-conducting
and non- Pn? ar.
Choose the correct statement(s) from the options
given below
(1 ALC and Dygmhy
(2 Conh N
(3 Band D ondy
4) A and C only
\‘.‘x
49 The velocity (v) M8 me (1) plot of the motion ol'a
bady i shown baldw
£
-~ f Sl 4
ol
- 1{x) -
The accoelerationTa) - tme (¢) graph that best suits
this monion 1s - O
’:: | T
£ - :
1) -~ p———————> (:) T
LLrgg)-
N (3"3
z ~ A
S §
(3) 7o ) <P ) t T
~ (¥ ]
S0 A 10 uF capacitor is connected toa 210 V. 50 Hz

source as shown-gn figure. The peak current in
-

the circult is nciﬂ\ (m=3.14):
| c= 10 uF |
§ Ty
W
210 ¥, 50 Hr
(1y 1.204 (2) 0354
(3) 03584 (4) 093 4

T2 English |

|

51

VA (O No. 81 1o Hs)

Chemistry : Sectior
r lmnmhu,“. ,

A compound with o moleculd fl
IPAC 1
has two tortinry cddbons. 14 18 ame y
(n 23 (linwtlwlfaulmu‘ 54  Match
() 2.2-dimethylbutane List |
- olecn
(3 nhexane M
P
(M D-nwllwlpvntt.ufc
A, ethm
Giiven below are two statements
\ B, ether
[ .
(£ e ', enrbe
Statement 12 Both ﬁ('n( NH l) I and ,.‘ oFg) mole
y 1), ethyn
complexes are obtdhedral but differ in g, y
magnetic hvlmvmr%r. Choose |
i) e y below:
Statement 11 : [{}W(N“;),,l is diamagne (1) Al
(2) A-l
(N " (3) A-L
sreas | Col ; amagnetic.
whereas ,(nl l is paramag 4) A-l'
In the light of the l’buvn statements, choose
correct answer from, 'the options given below:  gg  which pl
(1) Statement I ig-truc but Statement I is faly Ebhonius
(2) Statement | i§-fhlsc but Statement 11 is true
(3) Both Stulunw{l and Statement I are true l
(4) Both Statement | and Statement I are false (1) 5
Match List I with‘Eist 11.
(3
List I o) List 11 1)
(Process) r~ (Conditions) (3) -~
A. Isothermal G .tl. No heat exchange L
process :; !
]
B. Isochoric Il Carried out at 56  Match List |
- List I
rocess . - :
] P‘ N constant temperature Rtam Nur
C. lIsobaric ;'_‘lll. Carried out at A, my
process o constant volume B. m,
D. Adiabatic : "IV, Carried out at Ci
process constant pressure D. . »%
Choose the “’"“1'!“"‘“ er from the options give'
below: ) Choose the cor
(1) A-l, B-ll, C-111, D1y below:
(2) AL B-1IL, C-1V, D S A1, B-1
‘ 2) A-ll, B-1,
(3) A-1V, B-HIL, C-11, D} (3) A-1, B-111,
(4)  A-1V, B-1L, C-111, . (@) A-1IL B-I\

[ Contd~ T4
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55

ith List I1.

List W
e List 11
(Molecule) (Number and typeq of
bdnd/s between twe
c?;}}mn atoms)
A. ethane v One g-bond ang
¢y WO n-bonds
B. ethenc l!‘-_e") two n-bonds
C. carbon Il one o -bond
molecule, Cs
D. ethyne IV. one o -bond and
43 one m-bond
Choose the correct answer from the options given
below: 9
(1) AL B-IV, C-IliD-]
(2) Al B-1V, C-1, DHll
(3) A-l,B-IV, C-II, D-HI
(4) AV, B-III, C-IIED-I
Which plot of In k.ys % is consistent with

Arrhenius equation? 7%

| Ink—
SN
i
A

ey

3)

| Ink—

| Ink—

N

| nk—

| T,
T T
56 Match List | with List .
List I iry  ListIl
Quantum Number | sgnformation pr ovided
A m [ shape of orbital
B. m, 1. sizeof orbital
Cof [II. orientation of
L orbital )
D “§y. orientation of sPi
: 2 ofelectron .
Choose the correct angyer from the options given
below: L

(1) At By, C_]f;[ts_]
(2) AL B, .y, Dl
G) AL B, ) Doy
(4) A1, By c-i, D-1I

Tz‘_English 1

58

59

A OO0

The energy of an electron in the ground state

(n = 1) for He" ion is —x J, then that for an electron
in n = 2 state for Be>" i 1Ain Jis:
L
& 4
(1) —4x (2)- —'§'X
L]
)
(3) —x 4 -3
The compound that wilikundergo S\! reaction
with the fastest rate is h
sy
g CH;
Br 7~
o Q" &y
1!
W
3}
Match List I with List I&}
List I (Reaction) r~~  List II (Reagents/
= Condition)
Ly
Ty 9

L @JI\CI/

Anhyd.AICI;

0 \O
&)
5 O-Cr 0 © 1 oo,
P
OH 0
c U= 5 uKmnoy
L KOH, A
CH,CH,4
p. CV - IV. (i) O;
COOK o ,
< o) (ii) Zn-H,0

Choose the correct answerfrom the options given
below: L)

(1) A-1V, B-1, C-I1, Di@
(2) AL, B-1V, C-II, D-II
(3) A-1V, B-L, C-11I, D-II
(4) AL, B-1, C-IL, D-IV

[ Contd...
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70

71

(he reagents with which glucoge doe
 the cor responding t(‘ﬂlg/p,m‘” 1“0: react

I.\‘,PI\IUII‘H ¢ reagent

ft, Gehifl's reage nt

(. M N

D, NHy " 3
[ Ni Al 180+ >

( hoose the correct options from the given bel¢

( W
() Band! (2) T hid D

(1 13 and ( (4) Ahni”)

Identify the correct "“HU“"?mm would bring
about the followm lﬂ}. llan\lmmm,nn

7N -
SN CHCH, s
\_ ‘ Ly

\_ , . 1
>—CH,  CH, 010
(L) ) HH ‘

) 2
(n) H,‘H,/()H 14
¢

dk KMnO),

(n)

(1) !!‘():
() (1 HOH! L
(1) PCC
(9 0 HLOH!
() Cr0)y i
(4) (1) BH (=
i}
) (]
( H.0,/OH
(i) PCC

Activation energy of any chemical reaction can

be calculated if one knows the'value of

{1y orie ntition of |cm,lanl ﬂ!OlCLU|8>
collision .

(2) rate consigy at two dlﬁtlcl" femperatures.

(3)  rate Constany at standard tEII\pcralure

(4 ;)!Ulml»llll of u»||l>l()ll

during

: . areasin
Arraipe the tollow s in increds &

ing element
arder of {y o

sbionzation enthalpy:

”‘il- Be. H - N )
Choose i Corregy . iwmlhc options gIVED
. answer
1) Li- He < (- BN
@) Licpeon-py.c
'(31) Li< Be - g (N
@) Li-p- Be (<N

T2 Englisi, |

1

72

73

74

76

Among Group 16 elements, which one does NOT

show ~2 oxidation state?

(1y Te (2) Po
3y O (4) Se 0
‘e
Which reaction is NOT a red(muzaulnn’
(1 H,+Cly y 2 HCI ¢
(2) BaCl, + Na,SO, —» BaSQry+ 2 NaCl
(})y /ntC n.‘»()‘ » /nSO, + Qo
() 2KCIO, + 1, > 2KIO, 441,

In which of the following equilibria, K and K,
are NOT equal? ‘

(1) CO, + HHO, = ('“.’.wvﬁ”?m
() 2 Hr('lm ) ”'z«.u . ('111.&’
(3) PClgg == PChy, * (‘IZ‘&}}]
() Hygy + hyyy = 2Hlg,

The Henry's law constant (K;y) values of three
gases (A, B, () in water are 145. 241073 and
35 kbar, respectively. The sulubd’y of these gases
in water follow the order:

() A>C>B (2) A=8B-C

3) B-A=>C (4) B2Q>A

Given below are two statements:

Statement I : The boiling point of three isomeric
pentanes follows the order

n-pentane > isopentane ~ neopentanc
Statement Il : When branchi(fg: increases, the
molecule attains a shape of sphere. This results
in smaller surface area for gomﬁgt due to which
the intermolecular forces bcmgen the spherical
molecules are weak. thereby Iumlnb the boiling
point. Iy

In the light of the above statements, choose the
maost appropriate answer tfrom the options given

below:

(1) Statement [ is correct b@ldlcmcut Ifis
incorredt.

(2) Statement | is incorrect bqﬂ bldmnem I is

correct.
Both Statement | and Stateraent 1l are correct.
Both Statement | and Seatement 1l are

(3)
4)
meormect

| Contd...
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80

Given below are two statements:

Statement I : Aniline does not undergo Friedel-

Crafts alkylation reaction.

Statement II : Aniline cannot be prepared through

Gabriel synthesis.

In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I is correct but Statement Il is
false.

(2) Statement I is incorrect but Statement II is
true.

(3) Both Statement I and Statement II are true.

(4) Both Statement I and Statement II are false.

The highest number of helium atoms is in
(1) 4 gofhelium

(2) 2.271098 L of helium at STP

(3) 4 mol of helium

(4) 4 uofhelium

Arrange the following elements in increasing
order of electronegativity:

N, O, F, C, Si .
Choose the correct answer from the options given
below:

(1) O<F<N<C<Si

(2) F<O<N<C<Si

(3) Si<C<N<OK<F

(4) Si<C<O<NC<F

The most stable carbocation among the following

is:
@
) ,:>—CH2
CH;3

CH,
CH,
CH,
S
Cu,

2

C
“) CH3/H\CH2/

T2_English ]

12

81

82

. ‘:Co(HzQ)6]CI3

) ts:
Given below are two statemen

Statement I : The poiling P
Group 16 elements folloW the order

H,0 > H,Te > H,S¢ ~ H,S-

Statement II : On the basis of nfo.lecula.r May
H,0 is expected to have 10Wer boiling point t
the other members of the grouP t.)Ut ce o t
presence of extensive H-bonding in Hy0, it}

higher boiling point.
In the light of the above sta.temen.ts, choose
correct answer from the options given below:

(1) Statement I is true but St
2)
3)
C))

atement 11 is falg

Statement I is false but Statement II is tr

Both Statement I and Statement II are try
Both Statement I and Statement I are falg

Match List I with List IL.

IV. Coordinati¢

isomerism
Choose the correct answer fy
below:

(1) A-L B-1V, C-111, p.p
(2 AL B-1V, Cy, D-|
(3) A-IL B-IL, C-y, D]
(4) A-L B-IL C1v, D-11

om the options gi*

[ Cont?

oint of hydrideg "

83

84

85

List I (Complex) List IT (Typeof
isomerism)
\. [CO(NH3)5 (NOZ)]CIZ I.  Solvate
isomerism
: [CO(NH3 )5 (504 )] Br. II. Linkage
isomerism
. [CO(NH-" )6] [Cr(CN)é] III. Ionization
isomerism

On heating, some s
solid to vapour sta
liquid state. The
purification of such .
above principle is ki

(1) Distillation

(2) Chromatograph
(3) Crystallization
(4) Sublimation

The E° value for the
positive than that of (
to change of

(1) d*to dS configur
(2) d3to d5 configur
(3) d to d* configur
(4) d’ to d? configur:

Match List I with List
List I
(Conversion)

A. 1 molof H,0 to 0,

B. 1 molof M".OZ to

Mn2+

C. 1.5molofCa from
molten CaCl,

D. 1 molof FeO to Fe,O;

Choose the correct answet

below:

(1) A-IL, B-111, C-1, D-IV
(2) A-11, B-1v, C-11, D-I
(3) A-II, B-1V, C-I, D-III
4) A-1I, B-1v, C-1, D-II

T2_English 1
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84

on peating. some solid ,,_.:_z::_ccn cha
golid to vapour state 2.::.:_. passin
liquid state. The .n”n_::._:o 156 (
_.,_q:._i_::: of such solid substances
above principle is known as

nge from
] :_Z:_rr
I for the
156 O fhyes

) Distillation
2 Chromatography
®)] Crystallization

4 Sublimation

The
ae (e} 4 "

positive than that of Cr¥/Ce2 " or FeM g2t (e

to change of

0 \ . REl 7 .
value for the Mo /Mn?" couple is more

(1) d* 10 d* configuration
() d*tod* configuration
(3) d%tod! configuration

(@) d 1o d2 configuration

Match List I with List 11,

List I List 11
(Conversion) (Number of
Faraday required)
A, 1 mol of H,0 to O, I. 3F

B. 1 molof MO, to . 2F
Mn2!

€. 1.5 mol of Ca from 1. IF
“molten Q.QN

D. 1 molof FeO to Fe,04 IV, 5K

Choose the correct answer from the options given

A-ILB-IL, C-1, D-IV
AL B-1v, C-11, D-1

_

Ho

#7

88

89

Chemistry ¢ SectionB (), Mo, w6 to 100

4

fhe prodiicts A atid ¥4 chainied i the fellerving
renctions, respeetively, ate

RO ¢ PCL 7 3RCT E A
RO PCL # RO HCT e

(1) :\__5\_3_; PO,
(2) MO, and POCT
() POCL and H PO,
Ay POCL, and 1,10,

[dentify the correet answer.

(1) Dipole moment of NV, is greater thas thint
of N,
(2) ‘Three canonical formes can be deawn for
I
O , lon,
(3) Three resonance strictures can b dravm for

O70N€,

(4)  BE, has non=zero dipole moment,

The rate of a reaction quadruples when
temperature changes from 27°C 1o 577C
Caleulate the energy of activation,

Given R = 8314 K mob 1, fog 4 = 064021

(1) 3.80 kJ/mol

(2) 3804 kd/mol
(3) 38.04 kd/mol
(4) 3804 ki/mol

Giiven below are certain cations, Using inorganic
qualitative analysis, arrange them in increasing
group number from 0 to V1.

A A B Cu?
¢, Ba? D, Co?
t. Mg

Choose the correct answer from the options given
below:

(hy E,C,D,B,A
(2) E.ABC D
3) B,AD,CE
4) B, CA DK

| Contd,..
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The plot of osmotic pressure (11) vs concentration
(mol L-1) for a solution gives a straight line with
slope 25.73 1 bar mol-!. The temperature at which
the osmotic pressure measurement is done is:
(Use R =0.083 L 1@ mol-' K1)

\.,‘r
(1) 25.73°C 3 (2) 12.05°C
(3) 37°C (4) 310°C

u’ ?
The work done dufting reversible isothermal
expansion of one mole of hydrogen gas at 25°C
from pressure of 20 atmosphere to 10 atmosphere
is: A S

(Given R = 20cul‘|$'“ mol~ I)
(1) 413. l4calor|os

(2) 100 calories &
3)

8]
0 calorie
4)

H‘
—413.14 calories

A compound X coﬁt@ins 32% of A, 20% of B and
remaining percenta&é of C. Then, the empirical
formula of X is:

(Given atomic l]laSéQ; of A=64;B=40;C=32u)
(1) AB,G, £ (2) ABCy

(3) ABC,  “' @) ABC,

During the preparation of Mohr’s salt solution
(Ferrous ammonii@h sulphate), which of the
following acid is aﬂﬂed to prevent hydrolysis of

Fe2" ion?

(1) dilute nitric agxq

(2) dilute sulphuzticiacid
(3) dilute hydrocfﬂgric acid
4

concentrated sulphuric acid

Ve . :
The pair of lanthanc}_j‘aq ions which are diamagnetic
is f:_‘_"- .
(1) Gd3*and Eu¥*
(2) Pm3" and Sm’
3)

Ce?t and Yb2+ \
4)

s;:w.

Cce3+ and Eu?t

T2_English |
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97
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Consider the following reaction in a sealed vey,

at equilibrium with concentratlons of b
N,=30x103M, 0, =427 103 M and
NO=2.8 x 103 M.

5

PNO(g) =Ny ) * e

If0.1 mol L~! of NO(q ) Y5 takenina closed vegg,
ofdlssomatlon () of No

what will be degree

Udy 0.717
Y(#) 0.0889

at equilibrium?
(1) 0.8889
(3) 0.00889

Given below are two Stateme“ts :

|§‘p

3+
Statement I : [CO(NH ) ] is a homoley,

pom +
complex whereas:‘_[CO(NHg‘)“Clz} is

heteroleptic complexi!

3+
Statement II : Complex [CO(NH3)6] has orl

L5y

£ +
one kind of ligands byt [CO(NH3)4C12] hs

more than one kind of ligands i

In the light of the above statements, choose (
correct answer from ngxq options given below:

(1) Statement I is true but Statement Il is fals
(2) Statement I is false but Statement Il is tr
(3) Both Statement | and Statement Il are tri
(4) Both Statement [ and Statement II are fal¢

For the given reaction: .

( y—c=cu KMnO/H* =
- s>
YO e

product)

i1
‘P’is LY
?H OH 1
I
1 CH-C
() {O~CH-CH T

(OINe) ’”;-*-
|l

@ { —c-c Q



o 3 4 :
Major products A znd B fommed in the Ikl ing
seaction seqUENCE. Z€
HE A v ;
NN, ko
. aA ‘ “‘: —— B
- (major ) (major)
GH 54

(. - - B

-
. .
O O
1 - H.C
{\/\\/ & ‘: ‘\/L\
{2y .- - B= }
S \'\/
E;r
H.C H.C
3 i RV '{: \,/\_}
i."“f £= _:f; = |
\\/ h\/
Br
HOC | 8
) YN . Y
A= | B= |

99  Idemtify the major product C formed in the
foliowing reaction sequence -

OH, ~CH, - CH, - |22,
OH™ NEOH
Pariz] mydrolysis Br,

2 (mzgor)

(J) buznamide
2y u-romobutancic acid
3) propyizmine
(4) butylzmine

l“ Mz i gams of copper dc'p()silﬁd by P’ﬂﬁsfn'é
BT A currery through a voltmeter containing
P slphate wolinion for 100 seconds 15

D MG gy, mass of Cu - 63 g mol”»
F=90057 ¢

(4) 0.315¢

161

192

163

104

105

e A A A A Ok RS
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Botany : Sertion-A (Q. No. 183 1 135)

The lactose presemt i fhe growths am@&m e
bacieria is transporned v te ool by the actins of
(1) Permeae

(23 Poymerase

(3) Besppplactoridae

(4) Acetylave

Jdemify the type of fiovers baved om G posttion
oA calvr. coroliz and andeoecivs with respet @
the ovary from the given figures (2) z0d (%)

(1) (z)Perigymous: (b) Epigymous
(2) (z)Penigynous: (b) Perigymons
(3) (z2)Epigynous; (by Hypogyaous
(4) (zj Hypogynowus: {b) Epigynous

The type of conservation in which the drestened
species are taken o from their natwal debne
and placed in special setting where they can e
protecied and given special care is calied:

(1) Semiconservaive method

(2) Sustainable development

(3) in-situ conservation

(3) Biodiversity conservation

Formation of imerfascicular cambium from full
developed parenchyma cells is 20 example for
(1) Dedifferemiation

(2) Maturation

3 Differemiztion

(4) Redifferentiation

Which of the following i3 an example of
actinomorphic flower?
(1) Pisum (2} Sesbania

(3 Datura (3) Cassig

l(inm._.

S ol B 0 .
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108

109

110

Hii.ld 11 always cuts DNA molecules ata particular
point called recognition sequence and it consists
of:

(1) 4bp
(3) 8bp

(2) 10bp
(4) 6bp

)
(@)
L.
Which of the folléWing are
reaction of photoé;ﬁthesis?
A. Light ;‘:M'
Chlorophyll =~

CO,

D. ATP LS

E. NADPH (5
Choose the correctanswer from the options given

required for the dark

below: [
(1) C,D andE diily
(2) Dand Eonly}

(3) A, B and C dhly
4) B,C ahd D only

Match List I with'Eist II
List I &y
Rhizopus fﬁ} L
Ustilago L 1L

E'«-:..
Puccinia ©2 1. Bread mould
Agaricus IV

f‘z’? . Rust fungus
Choose the correc "a;lswer from the options given
below:

(1) A-111, B-1L, C-1, D-IV
(2) A-1V, B-IIL Gl D-1
(3) A-1L B-IL G-V, D-1
(4) A-l, Bl CcH, D-1V

List IL
Mushroom
Smut fungus

A
B
C.
D

ﬁﬁ\;nolecular weight organic

Lecithin, a sma
jliving tissues, is an example

compound found inf
of: L}
(1) dl ycerides

(2) Carbohydrates

(3) Aming acids _

“) Phospholipi{:54:}Y

The capacity 10 gi”” ferate a whole plant from any
cell of the plant i$ q@lled:

(1) Differemiatiéé

2) Somatic hytgggqization

3) Totipotency

(4) Micropropagation

T2_ English 1

111  Given below are two statements:

stage.

complex.

correct answer from the options
(1) Statement I is true but State
(2)
3)
4)

112 How many molecules of AT

Calvin cycle?

NADPH
3 molecules of ATP

NADPH

2)

(3)
NADPH

4)
NADPH

113 Match List I with List II
List1
Two or more 1.
alternative
forms of a gene
Cross of Fy
progeny with
homozygous
recessive parent
Cross of Fy

~ progeny with
any of the parents
Number of
chromosome
sets in plant

A.

1L

I11.

IV.

below:

(1 A-111, B-1V, C-1, D]
2) A-1V, B-111, C-I1, D-|
3) Al B-1I, C-11I, D1y
@) A-lL, B-L, C-II, D-1v

16

In the light of the above statements, choo
given below™

ment 11 is false

Statement I is false but Stateme
Both Statement I and Statement
Both Statement I and Statement |

required for every molecule of CO;

(H 3 molecules of ATP and 3

2 molecules of ATP and 2 moleculeséﬁf

S.ta'tement 1 : Chromosomes become gradually
visible under light microscope during leptotgpe

L))

Statement II : The begining of diplotene stage-is
recognized by dissolution of synaptone

mal
Lo
selthe
i)

nt Il is true
Loy

11 are trué>
0y
I are false’
(am |

[

p and NADPH are,

fixed in the
i

molecules of

and 2 molecules@f

A
21

2 molecules of ATP and 3 moléculeSggf

e

Tyl
1

List IT

Back cross

Ploidy

Allele

e
L

Test cross"
)

s

)

]

k!

11°

Choose the correct answer from the options g?’#éﬂ

£

T2
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angered species was released by-
(2) IUCN
@) WW

List of end
(" FOAM
(3) GEAC

-
-
The equation of Verhulst-Peartlogistic growth is
L Ly
A
N ,-\\-{", J LE)
dr " A
From this equation, K indicates:
1) Carrying capacity \D
(1) Larying s h
.

(2) Population density
(3) Intrinsic rate of natural mpugasc
L0y

(4) Biotic potential
Ly

Identify the set of correct statements:

' - 5 , ALKy .
A. The flowers of Vallisnericrate colourful and

produce nectar. O

L
B.  The flowers of waterlily gne not pollinated
by water. -
C. In most of \vut‘el‘-pollini‘i&d species, the
pollen grains are prol‘ectegd‘ h‘om wetting.
D.  Pollen grains of some hydrophytes are long
and ribbon like.
E. In some hydrophytes, thé“f'?%”"" grains are
P

carried passively inside water.

Choose the correct answer fromy the options 81Vt

below: -

(1) A,C.Dand E only ?i

@ B.C.Dand E only |

Q) C.Dand g only

@) AB.C and D only )
o
<2

lls are responsiblé for
monocols.

¥

(I ) l reac \’

: ) Inereaseq photosynthesis 11
2) Provig:
() Pro, iding large spaces fobtorage

(3) Inw

@) Protccling the

of sugars:

ard curling of leaves in monocots:

plant from salt stress:

TZ;E“élish ]
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118

119

120

121

A.

B.

Which one of the following can be explained on
the basis of Mendel’s I,aw'czll Dominance?

A, Out of one pair of l%lg;tp;rs one is dominant
and the other is recessive.

Alleles do not show aqyjcxprcssion and both
the characters appear as such in F,
gcncralion. )
Factors occur in pairgjin normal diploid

B.

plants.
The discrete unit controlling a particular

character is called factgn

The expression of onlgrone of the parental
characters is found in @monohybrid cross.
Choose the correct answer ftom the options given

]

below:

(1)" B,Cand D only
2) ABCD and E
(3) A,BandC only
4) A,C,DandE only

10y

15y

)
The cofactor of the enzymé-éarboxypeptidase is:
(1) Flavin (2) ‘Haem
(3) Zinc 4) fN'iacin

Which one of the l"ollowingié not a criterion for
classification of fungi?

(1) Mode of spore formation

(2) Fruiting body

(3) Morphology of mycelium

(4) Mode of nutrition ot
Match List I with List11
List 1

Nucleolus L.

" List 11

;‘,S:itc of formation

Mof'vfglycolipid

“Organization like
the cartwheel
Site for active

ribosomal RNA

¢ synthesis

¢« Bor storing

I'nutrients

ftom the options given

Centriole I1.

Leucoplasts 1.

Golgi V.
apparatus
Choose the correct answer
below: £
(1) A-lI, B-1V, C-II, D-17"
(2) A-lL B-IlL, C-lII, D-IV
(3) A-lll, B-11, C-1V, D-I
@) A-ll, B-11I, C-I, D-1V

[ Contd...




122 Identify the part of the seed from the givén figure
which is destined to form root when. the seed
germinates.

(1) C
(3) A

2 D
“4) B

123 In the given figure, which component has thin

outer walls and highly thickened inner walls?

(2 B
(4) D

124 A transcription unit in DNA is defined primarily

by the three regions in DNA and these are with
respect to upstream and down stream end;

(1) Inducer, Repressor, Structural gene

(2) Promotor, Structural gene, Terminator

(3) Repressor, Operator gene, Structural gene
4) Structural gene, Transposons, Operator gene

125 Given below are two statements:

Statement I : Parenchyma is living but

collenchyma is dead tissue.
Statement IT: Gymnosperms lack xylem vessels

but presence of xylem vessels is the characteristic

of angiosperms.
In the light of the above statements, choose the

correct answer from the options given below:
(1) Statement is true but Statement ILis false

(2) Gtatement I is false but Statement 11 is true
3) Both Statement [ and Statement 1l are true
(4) Both Statement I and Statement 11 are false

T2_English ]
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126 _A.pink flowered Snapdragon plant was crossed
with a red flowered Snapdragon plant. What type
of phenotype/s is/are expected in the progeny?
(1) Only pink flowered plants
(2) Red, Pink as well as white flowered plants
(3) Only red flowered plants
(4) Red flowered as well as pink flowered plants

127 Inhibition of Succinic dehydrogenase enzyme by
malonate is a classical example of:
(1) Competitive inhibition
(2) Enzyme activation
(3) Cofactor inhibition
(4)  Feedback inhibition
128 Match List T with List II
List I List IT

A. Clostridium 1.  Ethanol

butylicum

B. Saccharomyces II.  Streptokinase

cerevisiae :
- C. Trichoderma . Butyric acid
polysporum ' '

D. Streptococcus Sp. IV. Cyclosporin-A
Choose the correct answer from the options giver
below:

(1) A-ILB-L CIV, D-II
(2) A-1V, B, C-II, D-II
(3) A-l, B-L, C-II, D-IV
(4) A-IL B-1V, C-III, D-1
129 Spindle fibers attach to kinetochores o
chromosomes during
(1) Anaphase (2) Telophase
(3) Prophase (4) Metaphase
130 gl\:vxr:: l;:tsre]g gy gafde_ners to prepare weed—ff‘f
o cioes . ai;nage IS caused to grass as aw
atfect m j
plants. ature monocotyledo®
(2) can help in cell diyis; |
Y : 55€5,
| produce growth. Ision in grasse
(3) promotes apical .
(4) promotes aESCiS:iOmlnance_ |
on of mature leaves "
[ ContLL
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31 Tropical regions show greatest level of species
l + ~

richness because

A Tropical latitudes have remained relatively
undisturbed fot‘\‘!:flillions of years, hence

)Y .
more time \\'zt‘_x‘,\_a\'anlable for species

diversification. f
B. Tropical environments are more seasonal.
More solar energy'is available in tropics.

D. Constant environments promote niche
specialization. 1

E. Tropical en\"iro:rtments are constant and
predictable.

Choose the correct answer from the options given
below: U

(1) A.Band E only
(2) A.Band D only

™

(3) A.C.DandE only
(#) AandB only

)
3 4
i)

Given below are two statements:

Statement I ; Bt toxins are insect group specific

and coded by a gene gry 1Ac.

Bt toxin exists as inactive
Protexin in B. thuringiensis. However. after
'ngestion by the insect the inactive protoxin gets

comverted into activé form due to acidic pH of
the insect out. \)

Statement II

In the light of the above statements, choose the
COrreg ) X
Orrect answer from the options given below:
Y ~

(n Statement lis tl"u;.\but Statement 1l is false
2) State“lf?nt Lis false but Statement Il is true
(J) B()[h Statemem ita‘nd Statement Il are true

4 LY -
) Boy Statement | and Statement I are false

19

133

134

135

What is the fate of a piece of DNA c?trrying ottl}'

oene of interest which is transferred into an alien

;rganism?

A. The piece of DNA would be able to multiply
itself independentl}ﬁh the progeny cells of
the organism. i

B. It may get integrated.into the genome of the
recipient. ~3

C. It may multiply ancﬁ;e inherited along with
the host DNA. =~

D. The alien piece of DNA is not an integral
part of chromosom;::_.f

E. It shows ability to feplicate.

Choose the correct ansngfvfrom the options given
below: y

(1) Band C only iy
(2)- Aand E only
(3) AandBonly
(4) DandE only (e

These are regarded as maJZ)r causes of biodiversity
loss: oS
A.  Over exploitation \‘

Co-extinction

Mutation

m o 0w

Habitat loss and fragmentation
Migration \
Choose the correct optidn
(1) A,BandE only Z:\
(2) A,BandD only
(3) A,CandD only

4) A.B.CandD only

il el

2 PN

In a plant, black seed colﬁi‘% (BB/Bb) is dominant
over white seed color (8b). In order to find out
the genotype of the black'seed plant, with which
of the following genotypewill you cross it?

(1) Bb (2), BB/Bb

(3) BB 4) bb

| Contd...




) &‘,‘i-n}: Vz_Se‘(;tion-B (Q. No. 136 to 150)

136 Read the following statements and choose the set | 134

Identify the correct descripiios ahout ™ g,
of correct statements: )

figure
In the members of Phaeophyceac.

A. Asexual reproduction occurs usually by ,
biflagellate zoospores.

B. Sexual reproduction is by oogamous method ‘
only. g

C.  Stored food is in the form of carbohydrates |

which is either mannitol or laminarin.
D. The major pigments found are chlorophyil |
a. ¢ and carotenoids and xanthophyll. ,
E. Vegetative cells have a cellulosic wall. |

usually covered on the outside by gelatinous |
coating of algin.

] st yus flowers show Ing s,
Choose the correct answer from the options given | (1) Cleistogam«

below:
(1) A.C.DandFE only

(2) Compact inflorescence show INg Comgl,

autogamsy
(2) A.B.CandFE only { »
(3) A.B.C and D onh ; (3) Wind pollinated plant inflorescence shosy,
. « C ’
i 5 flowers with well exposed stamens
(4) B.C.DandE only '1
| (4) Water pollinated Nowers showing st
137 Match List I with List 11 with mucilagmous covering
List I List 11 ;
(Types of Stamens) (Example) 5
A. Monoadelphous 1 Citrus 140 Which of the following are fused in wn
B. Diadelphous Il Pea ‘ hybrndization invoh ing two vanietics of plas
C. Polyadelphous 1. Lily L (1) Protoplasts
D. Epiphyllous IV. China-rose

. : (2) Pollens
Choose the correct answer from the options given

below:

(1) A-l B-IL, C-1V, D-11I
(2) A-lIL B-1, C-1V, D-II
(3) A-IV. B-IL, C-1, D-11l *
(4) A-1V, B-1 C-11, D-111

{3) Callus

i .
(4) SOomatic embryos

141 kkﬂll‘f} lht)ﬁ:p in Uﬁ:t'lfbt‘),\}hc acid cvele ¥
does not involve oxidation f 5Ub5iliﬁ;«i?

following plant growth regulators, increases the |

length of stem, thus, increasing the yield”

(1) Cytokinin

(2) Abscisic acid

(3) Auxin

(4) Gibberellin

{
%
o |
138 Spraying sugarcane crop with which of the |
‘ (1) Succinyl-Coa Succir 4
, CHNMC a0 i
5 (2) lsocitrs
5 (L) IsoCitrate — U -k ety ol .
2 (3) Malic aci e
| (3) Malicacd 5 (),,
i ) -dl!)d&cti&- S
acid
(4) Succinic acig
= \"l'ﬂ!l\_
acd

2 Engli 20
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143

List II

Match List [ with

List I List I1
A. Robert May 1. Species-Area
relationship
B. Alexander von II. Longterm
ecosystem

Humboldl .
experiment using

out door plots
Global species
diversity at about
7 million

Rivet popper
hypothesis
Choose the correct answer from the options given
below:

(1) A-L B-IIL C-11, D-1V

(2) A-IIL B-IV, C-IL D-I

(3) A-ILB-IIL C-I. D-IV

(4) A-ULB-I, C-IV, D-II

C. Paul Ehrlich Il.

D. David Tilman IV.

Match List I with List II
List I List IT
A. Rose I.  Twisted aestivation
B. Pea II. Perigynous flower
C. Cotton III. Drupe
D. Mango IV. Marginal placentation

Choose the correct answer from the options given
below:

(1) A-1V, B-MI, C-11, D-1

(2) A-IL, B-III, C-IV, D-1

(3) A-IL B-IV, C-1, D-111

(4) A-L B-II, C-II, D-IV

144 Match List I with List II

List 1 List II
A. GLUT-4 I. Hormone
B. Insulin II. Enzyme
C. Trypsin III. Intercellular
ground substance
D. Collagen IV. Enables glucose

transport into cells
Choose the correct answer from the options given
below:
() A1, B-11t, Co1y, pog
() A-ILB-IV, C.1 pp
3) A-lv, B-1, C‘“,,D-[]l
4 A, B-11, C-IIL, D1V

T2 _English |
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145

146

147

148

A.

B.

The DNA present in chloroplast is:
(1) Linear. single stranded

(2) Circular. single stranded

(3) Linear. double stranded

(4) Circular, double stranded

Given below are two statements:

Statement I : In C; plants, some O, binds to
RuBisCO. hence CO, fixation is decreased.
Statement IT : In C, plants, mesophyll cells show
very little photorespiration while bundle sheath
cells do not show photorespiration.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement [ is true but Statement II is false
(2) Statement [ is false but Statement Il is true
(3) Both Statement | and Statement Il are true
(4) Both Statement | and Statement Il are false

Which of the following statement is correct
regarding the process of replication in E.coli?
(1) The DNA dependent DNA polymerase
catalyses polymerization in 5°— 3" as well
as 3°— 5’ direction.

The DNA dependent DNA polymerase
catalyses polymerization in 5° — 3" direction.
The DNA dependent DNA polymerase
catalyses polymerization in one direction
thatis 3’ —>5°.

The DNA dependent RNA polymerase
catalyses polymerization in one direction.
thatis 5 —3".

(2)
3)

4)

Match List I with List II

List I List 11

Frederick [.  Genetic code
Griffith

Francois Jacob II. Semi-conservative
& Jacque mode of DNA
Monod replication

Har Gobind IIl. Transformation
Khorana

Meselson & IV.  Lac operon

Stahl

Choose the correct answer from the options given
below:

() A-lL, B-111, C-1V, D-1

(2) A-1V, B, C-11, D-111

3) A-lL, B-11, C-1, D-1V

4)  A-lI, B-1V, C-1, D-lI

| Contd...
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Match List I with List 11
List I List IT
Citric acid L. M"Cytoplasm
T
cycle €9
‘§'~' feoy
Glycolysis 1. ¢ Mitochondrial
1) :
 (atrix
Electron I1I. Intermembrane
transport 4 rspace of
Yy
system }mtochondrla
Proton v.k “Tnner
€
gradient i {initochondrial
1)
membrane
Choose the correct answer from the options given
below: ‘)
&
(1) A-III, B-1V, C-I, D-TK™3
() A-V, B-II, C-II, D[,
(3) A-L Bl C-III, DI\“
A}
(4) A-Il B-I, C-1V, D-1II
In an ecosystem if the Ne‘t@’rnmary Productivity

(NPP) of first trophic levgl is

100x (keal m™2) yr™! whﬁtwould be the GPP

(Gross Primary Productlvi ) of the third
trophic level of the same e’cPsystem‘T

(1) 10x (kcal m2) yr—I

100x (kcal m Z)yr _
3x %4

x 2y -1 ¢y
= (kcal m <) yr »
3) ]O( “ LY

(2)

(4) x (keal m 2y yr”!

Tz__English ]
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A.

152

SEeR-IF

153

154

Match List I with List I

List 11

List I !

Fibrous joints .  Adjacent
vertebrae’ linli[
movement

Cartilaginous I1. ¢+ Humerus apg

joints ¢ *\Pectoral gird,

& rotatlonal
{~movement

Hinge 1115 Skull,; don’t

joints {rallow any

£ movement

Ball and IV. Knee, helpij

socket joints locomotion

Choose the correct answer ﬁbm the OPtIOHSzr
below : i

(1) A-II, B-lII, C-1, DIV”

(2) A-IIL B-I, C-IV, D-1E

3) A-IV, B-I, C-III, DI”

(4) A-L B-III, C-II, DW

Match List I with List IT =
List I ) List II
Typhoid 3% Fungus
Leishmaniasis H! Nematode
Ringworm ‘[Tf Protozoa
Filariasis iIV Bacteria

Choose the correct answerﬁom the options?
below :

(1) A-IIL, B-L, CIVDﬁ“

(2) A-IIL, B-1V, C-III, D-I

3) A-1, B-I, C-II, D-IV

@) A-1V, B-II, C-1, D-I,L,

In both’ sexes of cockroach a pair of J¥
ﬁlamenflous structures called anal cerci aref®
on:

(D
()
3
4)

Sth and 9th segn]ent
11t segment

5th segment

10t segment

!“f';

Which of the following ‘i§'not a compo'w
Fallopian tube?

‘-ﬁ{.

(1) Infundibulum 3
(2) Ampulla s

(3) Uterine fundus 3
(4) Isthmus L

(¢
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Given below are two statements :

Statement 1 : The presence or absence of hymer,
is not a reliable indicator of virginity,

Statement 11 : The hymen is torn during the firs
coitus only.

In the light of the above statements, choose the
correct answer from the options given bejoy -
(1) Statement I is true but Statement 1 is falge
(2) Statement I is false but Statement I1 is true
(3) Both Statement | and Statement II are trye
(4) Both Statement I and Statement II are false

Which of the following are Autoimmune
disorders?

A. Myasthenia gravis
B. Rheumatoid arthritis
C. Gout

D. Muscular dystrophy
E.

Systemic Lupus Erythematosus (SLE)
Choose the most appropriate answer from the
options given below :

(1) B,C&E only
(2) C,D &E only
(3) A,B&Donly
(4) A,B&E only
157 Match List I with List 1] :
List I List I1
(Sub Phases of (Specific
Prophase I) characters)
A. Diakinesis I.  Synaptonemal
complex formation
Pachytene II. Completion of
terminalisation of
chiasmata
Zygotene IlI. Chromosomes
look like thin
threads
.D. Leptotene IV. Appearance of
recombination
nodules

T2_English ]

Choose the correct answer from the options given
below :

(1) A-l1, B-1V, C-1, D-11I

(2) A-1v, B-H, C-II, D-I

(3) A-IV, B-HI, C-1II, D-I

(4) A-1, B-11, C-1V, D-11I

158

159

Ciiven below are some stages of hugman evolution
Arrange them in correct sequence. (Past 1o

Recent)

A, Homo habilis

B.  Homo sapiens

C.  Homo neanderthalensis
D.  Homo erectus

Choose the correct sequence of human evolution
from the options given below

(1) C-B-D-A (2) A-D-C-B
(3) D-A-C-B (4) B-A-D-C

Match List | with List IJ

List I List 11

Expiratory I, Expiratory reserve

capacity volume + Tidal
volume +
Inspiratory reserve
volume

Functional 1. Tidal volume +

residual Expiratory reserve

capacity volume

Vital capacity 111, Tidal volume +
Inspiratory reserve
volume
Inspiratory IV. Expiratory reserve
capacity volume + Residual
volume

Choose the correct answer from the options given
below :

(1) A-IlL, B-I, C-IV, D-1I
(2) A-lL, B-lII, C-II, D-1V
(3) A-ll, B-1V, C-I, D-HI
(4) A-IL, B-11, C-1V, D-I

| Contd...
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161

162

A.

3.

.

Match List T with List 1 :
List |

Pons

List 11
Provides additional

{ ?p

ey space for Neurons,
= regulates posture
2 and balance.

1) ‘

Hypothalamus APII. Controls
respiration and
gastric secretions.

Mecdulla YOr1,  Connects different

¥ _1‘ s
"y regions of the
I brain.

. Cerebellum V. Neuro secretory
14y

cells
Ly
Choose the correct answer from the options given
below :
(1) A-l, B-lI, C-1I, R-1V
(2) A-Il, B-l, C-llIgEP-1V
3) A-l, B-11, C-l’i}D-lV
(4) A-IIlL, B-1V, c-aijf%D-l
0
Given below are twolstatements :

Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes.

Statement II : The;:‘;ﬁroximal convoluted tubule
is ‘lined by simplé}columnar brush border
epithelium and in?j:éases the surface area for
reabsorption. o~

In the light of the ab/?ve statements, choose the
correct answer fromythe options given below :
(1) Statement I is true but Statement II is false

(2)
(3)
(4)

Statement | is false but Statement Il is true
Both Statementd and Statement Il are true
Both Statement’} and Statement II are false
y

Which of the follov\iixig is not a steroid hormone?
‘(] ) Progesterone ;=

(2) Glucagon L

(3) Cortisol

(4) Testosteron¢

T2 English |
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163 Match List | with List in:

List I List IT
fish
A. I’ter()phyllum\ {glj Hag
w fish
B. Myxine g Saw 11
C. Pristis 1. Angel fish
) .
D. Exocoetus Y- Flying fish

LQ th .
Choose the correct answer from the optionsy,

below :

i
(1) A-IV, B-I, C-I, :C:%’m
() A-IL, B CL, ?:W
3)
“

A-11, B-1, C-111, 9=0%
L)
A-111, B-1, C-11, DV

Which one is the correct product of I!

dependent RNA polymerase to the gr
P

3’TACATGGCAAATATCCATTCAS’

164

template?

¢)) 5’AUGUACCGU1::J§§AUAGGGAAGU3'
(2) 5’ATGTACCGTTTATAGGTAAGT?’

3) 5’AUGUACCGUUUAUAGGUAAGU3'
@ S’AUGUAMGUE?QAUAGGUMGU3'

£y
-

fn

165 Which of the followi"% statements is ine™
: iy
1

Bio-reactors arg fised to produce smil?
bacterial cultures.

)

- r
Bio-reactors have an agitator 5

anoxygen delivfﬁgﬁ system and foam o

system.
Yy

. g u
nditions for g eving the desired /"

3

=0

Mos e g
) .t COmmon iy used bio—reactOrS"a
stlmng t}’pe

4)

(o
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Three types of mqgfles are given ag a,band ¢
Identify the correctmatching pair along with thei,
location in human-body :

169

The following diagram showing restriction sites
in E.coli cloning vector pBR322. Find the role of
‘X’ and ‘Y genes:

‘:” 3

(@3
Name of muscle/Teeation
i"\.\
(1) (a) Skeletal ~Biceps
(b) Involuntile - Intestine (1) The gene ‘X’ hs\ for protein involved in
Smooth ul-'i replication of Plasmid and Y” for resistance
(¢) Smooth - Heart to antibiotics.
(2) (a) Involuntary - Nose tip (2) Gene ‘X’ is responsible for recognition sites
(b) Skeletal %one anq ‘Y’ is responsible for antibiotic
L2 resistance. )
(c) Cardiac €Heart. (3) The gene “X” is#eésponsible for resistance to
(3) (a) Smooth gj'oes antibiot_ics andij’ for Protein invqlved in
O the replication ‘'of Plasmid.
(b) Skeletal g’{},egs (4) The gene ‘X" is responsible for controlling
(c) Cardiac “Heart. the copy numberof the linked DNA and ‘Y~
for protein in\ffé),fVed in the replication of
(4) (a) Skeletal - Triceps Plasmid. .
(b) Smooth‘fStomach |
. W) 170  Match List I with List IT :
¢) Card . L
(9 Canlizogyleart List - ListIl
f:» A. Lipase L ¢~ Peptide bond
167 Whichone of the f;g]owing factors will not affect B. Nuclease I~ Ester bond
the Hal'dy-Weinbgg equilibrium? C. Protease I Glycosidic bond
. D. Amylase IV} Phosphodiester bond
(1) Genem 2
HETRtion Choose the correct aniswer from the options given
(2) Constant gene pool below :
(3) Genetic mo;‘éybinaﬁon (1) A-IL, B-IV, C-I, D-III
(4) Genetic driff™ ‘, ) A-IV,B, C-IILD-1I
o .{;j (3) A-IV, B-II, C-H, D-I
a;”; (4) A-I, B-II, C-Ib-1V
168 Which of the following is not a natural/traditional o Y
contraceptive mefhad? 171  Which of the follo“ﬁgg factors are favourable for
(1) Lactar the formation of oxyhaemoglobin in alveoli?
tional amenorrhea (1) Low pCO, and'High H* concentration
(2)  Vauls (2) Low pCO, and High temperature
() Coitus interruptus (3) High pO, and High pCO,
4) Hi + :
(4) Periodic abstinence (4) High pO, and Lesser H* concentration
T2_English ] 25
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172 Match List I with List Il : 175 Following are the stage® pEES sion
List I List II A. Gap 2 phase
A. Common cold 1.  Plasmodium B. Cytokinesis
B. Haemozoin [I. Typhoid C. Synthesis phase
C. Widal test I11. Rhinoviruses D. Karyokinesis
D. Allergy IV. Dust ml:tes E. Gap | phase Lence of stages g,
Choose the correct answer from the options given Choose the correct Sf’q Om
below : options given below - (2) E-C-A-DB
(1) A-IIL, B-1, C-1I, D-IV (1) B-D-E-A-C W E-B-D-AC
(2) A-IV, B-II, C-III, D-I (3) C-E-D-A-B @
(3) A-IlL B-1V, C-11I, D-I : S
(4) A-l, B-111, C-II, D-IV 176 Match List I with List II: .
o List I List IT
173  Given below are two statements : one is labelled A. Pleurobrachia k Mollusc':]a
as Assertion A and the other is labelled as B. Radula L. Ctenf)p ora
Reason R : C. Stomochord I11. Ostel'chthyes
Assertion A : Breast-feeding during initial period D. Airbladder IV. Hemichordats
of infant growth is recommended by doctors for Choose the correct answer from the optionsg;
bringing a healthy baby. below :
Reason R : Colostrum contains several antibodies (1) A-II, B-1V, C-1, D-III
absolutely essential to develop resistance for the (2) A-IV, B-III, C-II, D-1
new born baby. (3) A-IV, B-II, C-IIL, D-I
In the light of the above statements, ghoose. the (4) A-IL B-L, C-IV, D-III
most appropriate answer from the options given _
below : ' . X y
(1) A is correct but R is not correct. 177 The flippers of the Penguins and Dolphins!
] i the example of the
(2) A isnotcorrectbutRis correc.t. (1) Convergent evolution
(3) BothA apd R are correct and R is the correct (2) Divergent evolution
SXplanation oLA. ) (3) Adaptive radiation
(4) Both A and R are correct but R is NOT the (4) Natural selection

correct explanation of A.

Match List I with List T -
174 Match List I with List II : 178 Match List I with List IT .

List I List IT List1 List II
N . . ‘ A. Axoneme I Centriol
A. Non-medicated IUD I.  Multiload 375 . entriole
. B. Cartwheel 11 Cili d ﬂage“ﬂ
B. Copper releasing IUD II.  Progestogens pattens . ilia an
C. Hormone releasing [IUD III. Lippes loop .
IV. LNG-20 €. Crista I Chromosome
e Tplans ' e D. Satellite IV Mitochondd
Choose the correct answer from the options given Choose the correct - itochon i
below : below - answer from the optio™”
(1) A-1V, B-1, C-11, D-III () AL B-IV, o -
(2) A-I11, B-1, C-1V, D-II 2) AL B.L C-[V’ o
(3) A-lL B-1, C-11, D-1V () AV, BIL .y iy
(4) A-l, B-1II, C-1V, D-II (4) AV, B, C-fu’ o

T2 English ] 26 : Coﬂ“{
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Following am the stages of pathway for

conduction of an action potential through the
heart: £
A. AV bundle
B.  Purkinjefibres
C. AV nodé-
D. Bundle branches
E. SAnode
Choose the correct sequence of pathway from the
options given ]3’610“
() BDECA  (2) E-ADBC
3) E-CADB  (4) AEC-BD
The “Ti plasrrﬁ&?’ of Agrobacterium tumefaciens
stands for | -
(1) Tumor indixcing plasmid
(2) Temperature independent plasmid
(3) Tumour, mhlbltlng plasmid
(4) Tumor mdependent plasmid
Match List | _wuh List Il :
List I List II
A. Cocaine i} 1. Effective sedative in
) surgery
B. Heroin II.  Cannabis sativa
C. Morphme L. Erythroxylum
D. Marijuana, I IV.  Papaver somniferum

Choose the c?rréct answer from the options given
below : P

(1) A-IL, B-l;C-1lI, D-1IV

(2) A-lI, By, C-1, D-11

(3) A-IV,B-lll, C-1, D-

4) A-l, B-I, C-I1, D-1V

182 Match List I with List I] :

List1 List 11
A. Down’ ssyndrome I.  11™ chromosome
B. a- Thalassqmja II. *X’ chromosome
C. B-Thalassemia 11I. 21 chromosome
D. Klinefelter'§ i IV. 16" chromosome
syndrome ** !

Choose the correct answer from the options given
below :

(1) A-IL B-1V, C-1, D-I1

(2) A-IV, B-L, C-II, D-1II

(3) A-L, B-Il, C-11, D-IV

(4) A-IL BIL C-IV, D-1
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184

185

Match List I with List II :
List I : List IT
A. a-lantirypsin . Cotton bollworm
B. CryIAb ‘J II. ADA deficiency
C. CrylAc 2 [MI. Emphysema
D. Enzyme ' IV. Com borer
replacemenig :
therapy
Choose the correct answer from the options given
below : W)
(1) A-IIL B-IY, C-1, D-1I
(2) A-IL B-I¥..C-1. D-II
(3) A-IL B-L:C-IV, D-11I
(4) AL B-L C-IL DIV
Consider the following statements :
A. Annelids.are true coelomates
B. Poriferans are pseudocoelomates
C. Aschelm;jnﬁhes are acoelomates
D. PlaQ'hel&]mthes are pseudocoelomates
Choose the corréct answer from the options given
below :
(1) Conly (2) Donly
(3) Bonly (4) Aonly
Given below are two statements : one is labelled

as Assertion' A and the other is labelled as
[
Reason R :

id )

Assertion A : FSH acts upon ovarian follicles in
female and Leydig cells in male.

Reason R : Growing ovarian follicles secrete
estrogen in female while interstitial cells secrete
androgen in male human being.

In the light of’the above statements, choose the
correct answer from the options given below :

(1) Ais truehut R is false
Q) Ais falsubpt R is true

(3) Both A and R are true and R is the correct
explanation of A.

Both A and R are true but R is NOT the
correct explanation of A.

@)
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187

T2

Given below are two statements :

Statement I : Mitochondria and chloroplasts are

both double membrane bound organelles.

Statement II : Inner membrane of mitochondria

is relatively less permeable, as compared to
chloroplast.

Inthelight ofthe above statements, choose the most

appropriate answer from the options given below :

(1) Statement [ is correct but Statement II is

incorrect.

Statement | is incorrect but Statement II is
correct.

(3) Both Statementl and Statement Il are correct.

(4) Both Statement I and Statement II are

incorrect.

Regarding catalytic cycle of an enzyme action,
select the correct sequential steps :

A. Substrate enzyme complex forrﬁation.

B. Free enzyme ready to bind with another
substrate. -

C. Release of products.

D. Chemical bonds of the substrate broken.

E. Substrate binding to active site.

Choose the correct answer from the options given
below :

(1) B.A,C,D,E

(2, E,D,C,B,A
3) E.A.D.C.B

(4) A.E.B,D,C
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Given below are two statements :

Statement I : Gause’s COMpetitiye

principle states that two closely re|y dc Usi
competing for different resources cqp, tpe(.
indefinitely. &

Statement I : According to Gause’g Pring;,
during competition, themfenorwnllbeehm, ’
This may be true if resources are hmltmg

In the light of the above statements, choose ¢
correct answer from the options given be!ow

(N
2
3)
4)

Statement 1 is true but Statement [| j fal
Statement I is false but Statement || i try
Both Statement I and Statement I] are tr.

Both Statement I and Statement II are fy

Match List I with List II :
ListI List T

Exophthalmic I.  Excess secretion of

goiter cortisol, moon faceé
hyperglycemia
Acromegaly II.  Hypo-secretion
of thyroid hormon¢
and stunted govih
Cushing’s 1. Hyper secretion
syndrome of thyroid homone®
protruding €y¢ balk
Cretinism IV. Excessive secrtie"

of growth hor™*"™

Choose the correct answer from the optioﬂ’~ ;
below :

(1)
(2)
3
(4)

A-111, B-1v, C-11, D-1
A-1IL, B-1v, C-1, D-11
A-1, B-I11, C-I1, D-1v
A-1V, B-11, C-1, D-111

 coo”



190 As per ABO blood grouping system, the blood

191

192

A.

B.

group of father is B*, mother is A* and child is
O". Their respective genotype can be

IBi /1Ai /i

IBIB /JAIA /i

IAIB /1A / 1Bj

IAT /1Bj / 1A

iB /1A / 1AIB

moow

Choose the most appropriate answer from the
options given below :

(1) C&Bonly
(3) Aonly

(2) D&Eonly
(4) Bonly

The following are the statements about non-
chordates :

Pharynx is perforated by gill slits.
Notochord is absent.

Central nervous system is dorsal.

Heart is dorsal if present.

Post anal tail is absent.

Choose the most appropriate answer from the
options given below :

(1) B,D&E only

(2) B,C&Donly

(3) A& Conly

4 A,B&Donly -

Mmoo >

Match List I with List Il related to digestive system
of cockroach.

List I

The structures used L
for storing of food.
Ring of 6-8 blind
tubules at junction of
foregut and midgut.
Ring of 100-150 yellow
coloured thin

filaments at junction of
midgut and hindgut.
The structures used

for grinding the food.

Choose the correct answer from the options given
below :

(1) A-1V, B-III, C-1I, D-I
(2) A-lIl, B-IL, C-1V, D-I
(3)  A-1V, B-II, C-III, DI
(4) A-l, B-II, C-IIL, D-1V

List IT
Gizzard
II.  Gastric
Caeca
I1I. . Malpighian
tubules

IV. Crop
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193 Choose the correct statement given below

regarding juxta medullary nephron.

(1) Loop of Henle of juxta medullary nephron
runs deep into medulla.

Juxta medullary nephrons outnumber the
cortical nephrons.

Juxta medullary nephrons are located in the
columns of Bertini.

Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

(2)
(3)
4)

194 Match List I with List II :

195

List I List II

P wave I. Heart muscles are
electrically silent.

QRS complex II.  Depolarisation of
ventricles.

T wave III. Depolarisation of
atria.

T-P gap 1V. Repolarisation of
ventricles.

Choose the correct answer from the options gi\)en
below :

(1) A-IL, B-IlI, C-I, D-1V
(2) A-1V, B-II, C-1, D-III
(3) A-l, B-III, C-1V, D-II
(4) A-IIL, B-II, C-1V, D-I

Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.

GnRH
[ : ]
LH (A)
A A
B) ©
1 1
Androgens Factors
1 l
Formation of spermatids (D)

(1) FSH, Sertoli cells, Leydig cells,
spermatogenesis.

ICSH, Leydig cells, Sertoli cells,
spermatogenesis.

FSH, Leydig cells, Sertoli cells,
spermiogenesis

ICSH, Interstitial cells, Leydig cells,
spermiogenesis.

(2)
3)
4)

[ Contd...



196 Match List I with List II :

A.

197

198

A.

B
C.
D

List IT
Salivary glands

List I 'S 5
Llnic.e]lu]argdndular I
epithelium |

Compound éﬁthelium II. Pancreas
Multicelluldkﬂ; I1I. Goblet cells of

glandular ep?thelium alimentary canal
Endocrine glandular Moist surface of
epithelium buccal cavity

Choose the corféét answer from the options given
below : s

(1) A-IIL, B-IV;'C-I, D-II
(2) A-II, B-L,'C.IV, D-IIT
3) AHBI‘C"’HIDIV
4) AIVBI[I;:CIDII

Iv.

5%

Given below are two statements :

Statement I {{The cerebral hemispheres are
connected byCherve tract known as corpus
callosum. 5

()

Statement II £ The brain stem consists of the
medulla oblongata pons and cerebrum.

In the light of ’t‘hé above statements, choose the
most appropné‘l‘e answer from the options given
below :

(1) Statement I is correct but Statement I] is
- incorrect.” o

2) Statementil' is incorrect but Statement II is
correct. .

(3) Both Statgment] and StatementIl are correct.

(4) Both Stdtdment I and Statement II are

incorrectis’ s

Match List I with List II :

List1 W£3 List IT
Mesozoic Ef@t 1.  Lower invertebrates
. Proterozoic Era II. Fish & Amphibia
Cenozoic Era. - IIL. Birds & Reptiles
. Paleozoic Enﬁ‘ IV. Mammals

Choose the comeet answer from the options given
below :

(1) A-1, B-II, C-1V, D-III

(2) A-I B-1, C-1V, D-II

3) A-1I, B-1, C-llI, D-IV

(4) AL B-L, C-11, D-1V
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199 Match List I with.List IT:

200

fmd B oand

List I List I

RNA polymerase [ L snRnp,

. Termination of -,

transcription II. pmmOtor spistics lies
;’raph.
C. Splicing of Ex?p§ II. Rho facty, diode. the
to majority
TATA box *‘j“} IV. SaRN As, W
Choose the correé"t answer from the optnonsq,,/,,
below : O
(1) A-IIL B-IV}@-L D-li :
(2) A-1V, B-IIL, C-I, D-1I
i8S ] \Ehs (llm))
(3) A-IL, B-1V, G-, D-111 ‘
(4) A-IIL B-1L, C-1V, D-I :

L)
Given below are"’f\f/o statements : ‘ :
Statement I : Bone marrow is the main lymh pﬁens given

organ where all b‘lood cells including lymph "
are produced.

Inthelight ofthe above statements, chooset®" &
appropriate answgr; from the options give" be

(D

(
StatementJ is correct but Stateme!
incorrect. |

L

- il
(2) Statement Lis incorrect but State™
correct. i}
i
3 E

4)

Both Statement | and Statement [1arc?
ll
Both Statement | and Stat“-‘f“a[l

Incorrect.

;5'0ntd...
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